K-1 200

250 m
105 m
10.00 KN/m2

0.50

3333

17.46 KN/m3
56  KN/m3
117
0.38 (
t=5 59.7 cm3
130><70 61 cm3

25 m

W= ax(Q+y xh)

W] ]
Ka 3 0
Q 2 :

v 1 ==
h :
P S
GL 3.80 o ;
0.50 7.12 i
2.50 20.39 '
L i

1.05

W= (Q +wy>h)>=tan"2(45 -p/2) - 2C><tan(45 -¢p/2) = 19.9 KN/m2




Ra= L/6 20;tq,

Mmax = “/c(w;+w,/2)

P1 P2 L Ra Mmax
A-B 7.12 20.39 2.00 11.54 1.079 6.918
B-C
C-D
D-E
t=5 ( Z= 59.7cm3)
S =Mmax/z = 69,180 —= 597 = 115.9
Sa = 210(N/mm2)

Mmax = P><L,? 8
Mmax = 1154 > 10 > ( 250 > 100 )2 =~ 8 = 901,600

P (KN/m)

H (m)

130><70 ( Z=61cm3)
S = Mmax / z = 901600 -—= 6100 = 147.8 (N/mm2)
Sa = 150 (N/mm?2)
N = PxL,
= 1154 > 25 = 289 (KN)
P (KN/m)
H (m)
1.5m 75 KN/

289 kN < 75KN



